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1- In the classical model, real GDP per year is 

a) due to supply conditions plus the extent of government intervention in the economy

b) determined by supply and demand conditions together

c) supply determined

d) demand determined

2-  According to Keynesian theory, the most important determinant of saving and consumption is 

a) the level of real income 

b) the stock of liquid assets

c) the stock of durable goods in the consumer’s possession

d) the level of consumer indebtedness

3- The aggregate supply curve reflects the relationship between

a) the price of a particular good and the quantity supplied by all firms producing that good 

b) the price of a particular good and the quantity supplied by the aggregate economy

c) the price level and the quantity supplied of all goods in the economy

d) the price level and aggregate expenditures on all goods sold in the economy

4- The marginal propensity to consume(MPC) states a relationship between

a) a change in consumption and a change in income

b) a change in consumption and changes in savings

c) changes in consumption and savings

d) changes in consumption and investment

5- Assume that C= $4,000+0.9(Yd) is the economy’s short run consumption function, then

a) consumption equals  $20,000 when income equals $40,000

b) consumption equals  $50,000 when income equals $50,000

c) consumption equals  $15,700 when  income equals $13,000

d) consumption equals $5,000 when income equals zero

6- According to the information above, the autonomous consumption equals

a) $5,000 

b) $4,000

c) $50,000

d) zero

7- Assume that initially G is $100 and equilibrium real GDP demanded is $1,000. If the multiplier is 4 and government expenditures(G) increases to $150, real GDP demanded will increase

a) to $100

b) to $2,000

c) to $1,000

d) to $1,200

8- When aggregate expenditures exceed national income

a) real GDP equals aggregate expenditures  

b) the economy is experiencing a decline inventories  therefore, firms have to expand output

c) saving level is positive 

d) the tax multiplier is positive

9- Suppose that you are an economic advisor to the president of your country, and the country is in a bad recession; currently GDP $100,000 billion, but the potential GDP is $104,000. If the marginal propensity to consume(MPC) is 0.75 , then you may advise the president and his cabinet to close the gap by:

a) raising taxes by $300

b) increasing government spending by $1,000

c)  lowering government spending by $300

d) lowering  taxes by $100

10-  In a simple Keynisian model with MPC = 0.75, a $20 billion tax decrease will: 

a) raise equilibrium income by $20 billion

b) raise equilibrium income by $60 billion

c) lower equilibrium income by $500 billion

d) no change will occur

e) lower equilibrium income by $20 billion

11-   The crowding effect will result in 

a) an increase in private sector planned investment

b) a decrease in private sector planned investment and consumption

c) an increase in private sector planned consumption

d) decreases in federal expenditures on health care, education, and welfare

12- why long run aggregate supply curve (LRASC) is vertical at the potential level of real GDP or output?

a) Because in the long run, wages and other resource costs are fully adjusting to price changes.

b) Because in the long run, resource costs are not fully adjusted the price changes

c) Because in the long run every thing will adjust except wages

d) Due to inflexible prices

13-  According to Keynesian theory, the most important determinant of saving and consumption is 

a) the level of real income 

b) the stock of liquid assets

c) the stock of durable goods in the consumer’s possession

d) the level of consumer indebtedness

14- If the average propensity to save is 0.4 and income increases from $1,000 to $1,200, saving will increase 

a) $80

b) $200

c) $300

d) $400

15- If the level of consumption is $100 billion and disposable income is $125 billion, then the 

a) average propensity to consume(APC) = 0.6

b) average propensity to consume(APC) = 0.8

c) average propensity to consume(APC) = 0.7

d) average propensity to consume( APC) = 0.4

16-  The break-even point on the consumption function represents the point where 

a) consumption equals spending

b) income equals consumption plus spending

c) consumption is zero

d) consumption equals income 

17- Keynes and his followers believed that 

a) capitalism was one economic system that guaranteed full employment

b) wages and prices in the short run were flexible 

c) the economy could not operate at any production level less than full capacity

d) there was no guarantee that a capitalist economy would reach a full employment

18- The long run aggregate supply curve

a) shows that at higher prices, potential output increases

b) slopes up and to the right

c) shows that long run aggregate supply potential output

d) is very sensitive to changes in the price level

19- The classical model uses the assumption that 

a) all wages and prices are flexible 

b) monopoly is widespread in the economy

c) interest rates are not flexible 

d) none of the above

20- An economy in long-run equilibrium experiences a decrease in aggregate demand. According to the classical model, 

a) real GDP will not change but the price level will fall 

b) real GDP will fall, and then the price level will fall also

c) the price level will not change but real GDP will fall

d) real GDP will fall, wages will fall, but the prices of goods and services will stay the same

21- The 45-degree line 

a) contains only a consumption component 

b) represents both planned consumption and planned investment

c) shows various combinations where planned consumption equals real disposable income

d) reflects a decreasing APC as real disposable income rises 

22- The multiplier effect tends to 

a) generate instability

b) promote stability of the general price level

c) magnify small changes in spending into much larger changes in output and income

d) increases the MPC

